PDO7 a REVISIONS PART NO.
Customer ECN# DATE: REV2 B-25-08 & 98-4000-GENB
)
| ISSUE | DESCRIPTION ECN # | CHANGED | APP‘D |[DATE
S BY BY
o
T
fo0)
Te)
19
18 1 DYNASYS ACCESSORY BOX 21X12X8 54-8285
171 TERMINAL, RING 22-18AWG 3/8 STUD | 54-g523
16 1 12-10GA X 3/8 TERM HEAT SHRINK 56-0112
151 16-14GA X 3/8 TERM HEAT SHRINK | se-out
14 1 6GA X 3/8 STUD TINNED COPPER 56-0110
13 3 1-2GA X 3/8 STUD TINNED COPPE 54-8213-A
12 8 5/8 FLAT WASHER GR8-YZ 54-8218
11 ]| 4 5/8-11 NYLON LOCK NUT GRADE 8 54-g217
10 | 4 5/8-11 X 6 GR8 ZI 54-8214
9 1 HIGH AMP AMG FUSE, 125A 32V 54-8206
8 1 AMG MEGA FUSE HOLDER W/COVER 54-8205
7 1 2AWG 12V CABLE - 12IN POSITIV 54-8204-E
6 2 BUTT SPLICE 12-10AWG CONNECTOR 54-8524
S 1 CABLE, APU 110VAC LEAD 54-8267-D
4 4 FRAME CLAMP WIDE FRAME 58-0218
3 1 120 Volt Control Harness 63-1146
2 15’ | 12/3AWG 300V CORD, BLACK 54-8251
1 2 FUEL HOSE SPRING CLAMP, 1/4* 54-8088
KEY |@TY. | DESCRIPTION PART NO. nc:;
Zdynasys onv,
confidential property of ALLIANCE,
PERRIN MANUFACTURING INC. NEBRASKA
unless otherwise specified Material
dr. _PC_ 9-16-19
1 place dec, * _Dm\\ *« Title

2 place dec. + 0327

3 place dec. H.D”_.m\\

DYNASYS BOX 1 INSTALL KIT

Engr. Ref. Part No.

Z_H_n_um“ va<< _UQ_)& - angular H”_.o
No process sheet required

SC

Price code Sheet

Lof 1 58-4000-GENE )




